a(d z) (um) for PV Ratio a(dy) (um) for PV Ratio o(d x) (um) for PV

Ratio

055 =105 0 5 10 15 20

L HEYESH
L R h T 8 VA S B Y RS R P
h h . h -+ ] .
F T+ .
r -+
L L

Vertex z (cm)

o0 X) (um)

,_,
S

N
(S)
s

102k

60

40 20 0 20 40 60
Vertex z (cm)

) tor merged vertices (um)

o(d X

H
S

=
9
N

20 0 20 40 60
Vertex z (cm)

—=— DQM_correctCheck3_mu_pt1to1000_etalp5to2p0
—— DQM_original_mu_pt1to1000_etalp5to2p0

Vertex z (cm)

510 15 20

10 15 20

—~

G(0y) (um

0(0 2) (um)

Ratio

107

1023k

=20 0 20 40 60
Vertex z (cm)

1072

103k

=40 20 0 20 40 60
Vertex z (cm)

o(d y) for merged vertices (um)

o(d z) for merged vertices (um)

=
<
N

=
S
w

i
S
N

[y
S
w

=20 0 20 40 60
Vertex z (cm)

—40 20 0 20 40 60
Vertex z (cm)



	Contents
	Page 1


